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03  AlZRohy| 4,283 0 4,283
[ &t Ag A ]
OsteAlY 3| 679,794,000¥%0.63% = 4,283
St F 2|22 1,147,902 0 1,147,902
= 300,000
= 51,600
o 796,302
stea{2|d g2 22 1,147,902 0 1,147,902
= 300,000
=) 51,600
i 796,302
St | FAlEe 589,902 0 589,902
401  A|GH|ZRCHH| 589,902 589,902
01 AlEH]| 586,000 0 586,000
[ Aot Ard A ]
OF& F3otra{2lAld E24H| X 350,000,000¥ = 350,000
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075 AE0N @ROIER : $1(6), MELE 42
0L T HAE e @TOINY ST RN GMBAIY : S1AX2IY QAT @ : Al UHCHY
FE.EOH2E. FUAY BAMY MEMY. S |ouy (DRG] 23
& of
OYE S0t AL YA AT wX 150,000,000& = 150,000
OFE sote22Ad S AAWA SA
86,000,000% = 86,000
03 NE=L ] 3,902 0 3,902
RECESIVEN
Oste2[d fA| e 3,902,000¥ = 3,902
E5RY 330t 2 1704 LF|7HHAR 558,000 0 558,000
= 300,000
= 51,600
i 206,400
401  A|l&H|2 2ol 558,000 0 558,000
= 300,000
= 51,600
i 206,400
01 AlEH]| 554,485 0 554,485
[ A5t AtdA ]
OZsHE 3ot 2 1704 L2 HAFY 554,485,000¢ = 554,485
= 296,485
= 51,600
i 206,400
03 NE=Lw o] 3,515 0 3,515
[ &5t Atg A ]
O 333 2 1714 A2{7AFY 3,515,0009 = 3,515
= 3,515




